*Answer questions as: “The issue is whether [act of gov’t] violates [provision of the Constitution].” 
*State: “The rule is…”  

I. Goal of course – being able to distinguish between:
a. Theory = a general method and/or set of ideas for approaching a legal problem
i. E.g. originalism – theory of constitutional interpretation 
b. Doctrine = rules that guide decisions in particular legal cases
i. E.g. applying the “strict scrutiny” test to racial classification is settled constitutional law doctrine 
ii. Saying something is “settled” does not mean it is correct 
c. Political ideology/policy preference = positions and beliefs about government structures and policies 
i. E.g. personally identifying as a “liberal” or “democrat”; preferring political candidates and laws that limit access to handguns 
II. The Federal Judicial Power 
a. Structure of the U.S. Const. 
i. Components of today’s US Const.
1. Original Const 
2. BoR (1-10) 
3. Post-Civil War Amends. (13-15) 
4. Amends. 16-27
ii. Functions of the Const. (why do we have it and what are its purposes?)
1. Four major functions:
a. Establishes national govt 
b. Divides power 
c. Determines relationship 
d. Limit gov’t power – can
2. Hobbsian Theory: reason we give up liberty to gov’t in state of nature is in order to have protection from gov’t (e.g. hitting others with sticks in order to take their laptop)  see chart in slides
3. Replacement of the Const.  to create a stronger national gov’t (e.g. can draft troops, power to tax, etc.)
a. Federalist: those who were in favor of the new federal Const.; most focused on giving power to federal gov’t (James Madison, Alexander Hamilton)
i. Objected to the BoR because of the listing of rights, because of concern that if they started listing them, the const. would be interpreted that those rights that were unemnumerated (unlisted right that came to the Const. with) were not rights  put language in the Const. to protect against this (9th Amend) 
b. Anti-federalist: those who are concerned about the federal gov’t having too much power (Patrick Henry)
i. Feared Const. gave president too much power, and congress would be too aristocratic  reason for checks and balances in Const. 
1. Also criticized because it lack a BoR 
4. Const. vs. State Power
a. State govt has general police powers 
b. Federal gov’t has limited power – must act constitutionally (i.e. with power granted by the const.) 
b. Authority for Judicial Review of Federal Executive and Legislative Acts
i. Marbury v. Madison (1803)
1. Factual Background: presidential election in 1800s. Contested election among three candidates. John Adams (incumbent) and Thomas Jefferson, and Aaron Burr tied. Jefferson got the popular vote. Went to HoR to decide, which was controlled by the Federalist (as were the rest of the branches of gov’t). Adams lost the popular and electoral vote. While still in office he wanted to strengthen his hold on power, so before the anti-federalist took over, Adams appointed 42 justices of the peace. It is a life appointment and good place to pack your political party people. As well as other changes, but was essentially trying to make the gov’t a federalist stronghold. Adam starts appointing the “midnight judges.” Adams appoints and commissions them (signs them). John Marshal puts the official seal on the commission, and then it is his job to deliver them. Some of them did not get delivered. Marbury was one of the midnight judges who was appointment and commissioned, but his commission wasn’t delivered, and they tried to prevent him from taking the position. 
2. Procedural: Marbury filed his suit directly in the Supreme Court. Approached this as though the Supreme Court had original jurisdiction over the case. 
a. What relief does Marbury sue for? Writ for mandamus  mandate by the court for an officer to perform a duty  new sec of state give him his commission 
3. Analysis: Marshall asks three questions for analysis:
a. Has the applicant a right to the commission he demands?  YES
i. Because the commission was signed and sealed, it is allowed. It does not matter that it was delivered, because it was enough to establish a commission. 
b. If he has the right, and that right has been violated, do the laws of his country afford him a remedy?  YES 
i. The US is a country of laws and rights, and if you have a right, you should have a remedy if that right is violated. 
ii. The question then is whether is it a reviewable right. Makes two categories:
1. Actions not reviewable by courts are those that are political in nature – acts that are discretionary
a. To say that something is a political question is to say it is not reviewable and for the executive branch to decide. 
i. Is it something that the constitution sets out to the power solely of another banch of gov’t 
ii. Ex. president pardoning someone – may want to sue president, but Supreme Court will say they cannot review it, it is at the discretion of the president. (Check on this is refusing to re-elect president, or members of their party in the midterms  i.e. political process) 
iii. Justiciable: able to be reviewed
iv. Non-justiciable: not able to be reviewed 
2. Actions that are reviewable by courts are those that acts that are a vested right 
3. Note: political question doctrine (won’t go deep). Marshall is credited with creating this concept. 
c. If they do afford him a remedy, is it a mandamus issuing from the court?  Breaks down in to two parts: 
i. Nature of the writ
1. Court may issue a writ of mandamus if the issue is reviewable (repeating principle that political questions are not reviewable in this court). It is not about the to whom the writ is directed, but the nature of thing to be done. 
2.  The court can issue a writ of mandamus against the secretary of state because of the language of the act, and because the secretary meets this definition 
ii. Power of the Court
1. The Supreme Court has original jurisdiction over certain things, and appellate jurisdiction over everything else. 
2. There is a conflict between the Act (judiciary act of 1879) and Art. III of the Const. So the question then is whether the Const. or the Act is supreme.  When there is a conflict between the Const. and a federal law, it is the Const. that dictates what the rule it 
3.  Has power of judicial review 
4. Rest of opinion is why the Const. should be supreme:
a. The power of the Supreme Court to strike down an action if it is unconstitutional. It can’t be that Congress can pass a law against something the Const. protects and the law will trump
i. It is the role of the court to tell Congress that a law that it passed is unconstitutional 
b. Judges take an oath 
c. No point in having written Const. if courts can’t enforce it 
d. It is the job of the federal courts to interpret what laws mean 
e. Supremacy clause 
i. Uses other reasons to be persuasive of why it is the court’s role
iii. Because Marbury was relying on the Act, which the Supreme Court deemed was unconstitutional, the court relied on the Const., which does not provide for the commission 
4. Holding: the Supreme court has the power to invalidate laws that are passed by congress and to review an action by the executive branch 
a. Establishes: authority for judicial review of federal executive and legislative actions
i. Example of the power of the court  writing opinions 
ii. Why is Marbury significant? 
1. Creates authority for judicial review of EXECUTIVE actions (failure to deliver Marbury’s commission… unconstitutional)
2. Interprets Article II of Const. (Congress cannot expand original jurisdiction of Sup Ct.) 
3. Establishes authority for judicial review of LEGISLATIVE actions (declares a federal law – Judiciary Act of 1789 – unconstitutional) 
iii. Key Take-Away Questions: How does the Court (Chief Justice Marshall is writing for the Court “delivering the opinion of the Court”) justify judicial review of executive actions, and, according to the Court, when is such judicial review available and when is it unavailable? Why does the Court find the Judiciary Act of 1789 unconstitutional? How does the Court justify judicial review of legislative acts?
c. Authority for Judicial Review of State Executive, Legislative, and Judicial Acts 
i. Martin v. Hunter’s Lessee (1816)
1. Facts: two competing claims for land in Virginia: (1) from Martin who claimed title to the land based on inheritance from Lord Fairfax, a British citizen who owned the property; (2) Hunter claimed that VA had taken the land before the treaties (US and England treaty that protected British citizens rights to own land in US) came into effect and thus, Martin didn’t have a claim to the land. 
2. Issue: whether the land was taken before the US entered into a treaty protecting land ownership of British citizens. 
3. Analysis: Structure of the Constitution presumes the S. Ct. may review state court decisions. Const. is also based on that state courts can be biased. 
a. Justifications for decision:
i. Art III does not require Congress to establish lower federal courts, and the Const. means that that the Sup ct has to have the power to review the highest opinion of the state court, otherwise would the Sup Ct exist 
ii. St. Ct’s are influence by state prejudiced 
iii. It is important to have a uniform interpretation of federal law 
ii. Cohens v. Virginia (1821)
1. Facts: two brothers convicted in VA of selling D.C. lotto tickets in violation of VA law. ∆s sought review in U.S. S. Ct. and VA argued that the S. Ct. had no authority to review state court decisions, especially criminal cases. 
2. Holding: S. Ct. can review state court decisions. St. Ct. cannot be trusted to protect federal rights because judges are dependent on office for salary. 
a. Reason you want federal court to review:
i. State judges are elected, versus an Art. III judge who is appointed for life 
1. Elected state court judges can be influenced by wanted to be re-elected, or salary is not set for life
ii. Need for uniformity of federal law interpretation 
1. I.e. there can be a different interpretation of Equal Protection clause that varies from state to state
iii. “Mass Resistance” Note 
1. Cooper v. Aaron (1958) – Little Rock Schools; federal judiciary is supreme 
2. Goss v. Board of Education (1963) – invalidated a law that allowed students who were assigned to new schools as a part of desegregation to transfer from schools where they were a racial minority to one where they were the racial majority 
3. Griffin v. County School Board (1964) – declared unconstitutional for school systems to close rather than desegregate 
4. Green v. County School Board (1968) – declared unconstitutional a “freedom of choice plan” that was a common approach used to frustrate desegregation 
5. Civil Rights Act of 1964 
a. Prohibited discrimination by schools receiving federal funds 
b. Authorizes U.S.A.G. to intervene in desegregation suits 
iv. Video clips 
1. Same-sex marriage news clip – contrasting the resistance after Obergfeld
2. Independent judiciary 
a. Compare and contract Cherokee case and Cooper vs. Aaron (about the nature of the federal gov’t and the state gov’t) 
b. Cooper v. Aaron: President Ike sent in federal troops to enforce a ruling of the Sup Ct and to protect the Little Rock 9.
i. Ike stands behind the rule of law and the Const., even though he wasn’t a big civil rights guy. He believed in protecting federal power. 
ii. Federal law bans Jim Crow (should be final law of the land). States have power to make own laws. State legislatures cannot create laws to nullify federal law (see supremacy clause). 
iii. Case is important because of the separation of power.  opinion signed by all justices 
iv. Take-away: opinion holds that Sup Ct are the final arbiters (i.e. the last word). But their power is quite precarious and dependent on the Congress, president, people, etc. to maintain power.  
1. True if everyone else in the system goes along with what they decide
3. Questions to Consider
a. What is the source of the Sup Ct’s power? 
b. Why do we follow the decisions of “the least dangerous branch”? 
v. Federal Judicial Power
1. Cooper v. Aaron (1958) 
a. Holding: Sup Ct job to tell you what the meaning of the const. is, and when we do that, you are bound to follow it, and our interpretation itself is the law 
b. What happens is the governor of a state, the legislator, the locale, etc. says the interpretation is wrong?  The president has to stand behind the court (e.g. Eisenhower sending in the national guard)
2. Is the Supreme Court’s interpretation of the Const. the supreme law of the land?
a. Definitely for the parties to the case 
d. Constitutional Interpretation
i. Takeaways:
1. Know the difference between the method and source of the Const. 
2. Methods and sources of const. interpretation are not ideologically bound (i.e. judges appointed by republicans or democrats are not bound by certain methods or sources of interpretation). 
3. Difference between originalism and non-originalism 
ii. Sources of Const. Interpretation
1. Primary: 
a. Text of Const. 
b. Original constitutional history 
c. Overall structure of the Const. 
d. Values reflected in the Const. 
i. E.g. protecting people from tyranny; protecting individual rights and not giving all the power to the gov’t 
2. Secondary:
a. Judicial precedent
iii. Methods of Const. Interpretation 
1. Originalism-specific intent
a. If we could bring the framers back from the dead and ask them what they meant by the language, i.e. what their specific intent was (i.e. to mean “bear arms”)
2. Originalism-modified/abstract intent 
a. Don’t use specific intent of the framers, but modified to the modern era (e.g. only uses “he,” but also includes “she”) 
3. Original meaning/understanding (Scalia) 
a. Primary sources of Const. interpretation are not what the original framers specific intent meant, but would have a dictionary from the 1700s 
4. Tradition 
5. Process-based theory 
6. Aspirationalism 
7. Textualism
8. Pragmatic 
9. Purposive 
10. Structural 
11. Values-based
12. Precedential
iv. Interpretive Limits: raises the question of how the Const. should be interpreted	
1. Originalism: view that judges deciding Const. issues should confine themselves to enforcing norms that are stated or clearly implicit in the written const. Constitution is only evolved by amendment. Right only exists if stated or it was clear intention of the framers. Silence of the Const. is for the legislature to decide. Should be consistent in their interpretation 
a. Critiques: 
i. How do you do it? Who do you look at? If you bring everyone back would they agree? 
ii. By supposedly restraining the authority of the SC, you’re reinforcing the majority’s view on everything (see: Griswold)
iii. Because it leaves it up to legislature, but if you’re a numerical minority, you’ll never be able to vote in the legislators you want (see: Jim Crow laws)
2. Non-originalism: view that courts should go beyond that set of references and enforce norms that cannot be discovered within the four corners of the document. Interpretation the Const. in a way beyond having an amendment. Constitution can evolve by both interpretation and amendment. Believe Const. was not meant to be static. 
a. Critiques:
i. How do you do it? 
ii. Lots of discretion, not constrained; allows ideological 
3. District of Columbia v. Heller (2008)	
a. Purpose of reading: 	
i. Constitutional interpretation 
ii. Understand black letter law on 2nd Amd. 
b. Facts: D.C. generally prohibits the possession of handguns. Heller was a special police officer who was authorized to carry a handgun while on duty. He applied for a registration certificate to carry off duty but was denied and filed a lawsuit on Second Amendment grounds. 
c. Issue: Whether a D.C. prohibition on the possession of usable handguns in the home violates the Second Amendment. 
d. Analysis (Scalia): 
i. Words of the Const. are meant to be read in the normal and ordinary meaning, as opposed to technical meaning. 
ii. “Militia” in 2nd Am is one of the purposes of the right to bear arms. Other reasons are for self defense, hunting.  departed from the long standing understanding that the right to bear arms was only in the context of a militia
iii. Did not adopt any level of standard of review 
1. Rejected balancing of interest standard (Breyer’s suggestion in dissent) 
2. Left with either strict scrutiny or heightened level of scrutiny, but don’t know which one 
iv. Second amend is divided into two parts:
1. Operative clause: 
a. “A well regulated militia, being necessary to the security of a free State…” 
b. Right of the people  holder of the right 
i. The people are everybody, not just members of a group (i.e. a militia)
ii. Because the militia is a specific subset of the people, it doesn’t make sense to read the statement as a right of the people (i.e. would only be some of the people)  start with strong presumption that right is individual  
iii. Looks at text of the Const: 
iv. 3x in the Const. it says “right of the people”  all refer to individual rights, not collective rights 
v. “The people” is mentioned 6x but refers to all members of the political community, not an unspecific subset
c. Keep and bear arms  substance of the right
i. Defines “arms” from legal dictionaries as: weapons used for defense and not particularly in a military capacity  fit with originalism because you are looking at what people of the time would have understood them to mean 
ii. Applies to modern “arms”  wouldn’t only protect arms that were available at that time 
d. Not an unlimited right
i. Similar to 1st Amendment right to free speech 
ii. Does not say you can have an arm for any purpose whatsoever, you cannot have an arm for any type of confrontation, but there are sometimes when you will have a right to carry a firearm 
iii. I.e. cannot drive your tank down the street, or carry an Uzi
2. Prefatory clause:
a. “…the right of the people to keep and bear Arms, shall not be infringed.” 
b. Provisions of state constitutions (of the time) commonly included a prefatory statement of purpose [original meaning/understanding] 
i. Prefatory clause does not limit the scope of the operative clause 
c. “Well regulated militia”  defines militia as all abled bodied men 
d. “Security of a free state”  not state as commonly understood, but about a free gov’t 
v. Relationship between the clauses  fit together once you know the history 
1. Arms-bearing rights in states after ratification 
2. Not right to look at drafts of the clause that were not included 
3. Scholars interpreted the right to bear arms as individual 
4. Looked at precedent  Miller (1939)
a. Decision was based on the type of weapon, not whether the right was individual or not  if not, it would be off for the court to analyze the type of the weapon 
i. This is now what Miller stands for (i.e. 2nd Am is about the type of weapon) 
b. Prior to Heller, you would cite Miller as supporting that that 2nd Amendment does not protect the right to bear arms 
vi. Not an unlimited right  not an absolute right 
1. There is some power of the gov’t to regulate weapons 
a. Can argue that it is not a clear standard, but the majority says that nothing in the opinion should “cast doubt on longstanding prohibition on the possession of firearms by felons and the mentally ill, or law forbidding carrying of firearms in sensitive places…” 
i. Critique: where did Scalia get this reasoning from because it is not really an originalism interpretation
2. Weapons that are in common use at the time – not limited to those that existed at the time of the creation of the const. 
a. Critique: need a standard because it will create a lot of variation and it is unclear about what the gov’t can and cannot do regarding regulating firearms 
i. Scalia address that some people might argue that if they can’t have an unusual weapon, then how will I defend myself against the federal gov’t? He doesn’t have a good response, and basically says “because I say so” without a good base of reasoning.
vii. D.C. law at issue Have to look at law before us and see if it is Constitutional 
1. We know D.C. law regulated guns in the home (self defense), and this violates Const., but does not give a standard of review 
a. Focus on protecting “hearth and home” thus, if you have new fact pattern, you will likely have a stronger argument to apply Heller if the facts are about self  defense, especially in the home, but will likely struggle more if it is about arms in school or something else. 
2. Scalia then argues against Breyer’s proposed test 
3. Self defense is critical, especially in the home 
4. No appropriate approach for balancing 
e. Holding (pg. 22): The 2nd Am protects an individual right to bear usable arms in the home for self-defense (narrow holding) because it violates the Constitution 
i. There is no standard of review (sets no standard) 
ii. *Second amend is not an absolute right  gov’t retains some power to regulate 
f. Dissent (Stevens): 
i. Best arguments that support Stevens is right: 
1. Intent – look at old docs 
a. Original intent
2. Textual – language in amendment  “well regulated militia” (argument is more textually based than Scalia)
a. The issue is about protecting states as sovereign gov’ts from the federal gov’t, not about citizen self defense against the federal gov’t  distinction from majority 
ii. Not an originalist, but in this case, this is how he interprets the Constitution  
iii. Stevens believes answers to the issue come from looking at: 
1. Text of the Const. 
a. It is a preamble, not a prefatory clause 
b. Militia – body of people that come together to protect their country. Today, we have a more formal entity that is military, it is not that something bad happens and we go home to grab our gun to protect ourselves. 
i. Stevens  defines militia as a state run militia; the gov’t expects you to participate to defend the state because there is no strong federal gov’t to protect 
ii. Interpretation  there is no militia today, so there is no impact of the 2nd Amendment; state sponsored entity 
iii. The only limitation is on federal action  if the federal gov’t tries to disarm the state sponsored militia 
iv. This was the interpretation of the 2nd Am up until this case 
2. History 
a. Original draft did not mention individual rights, and thus, it was presented, but rejected because it was not included 
3. Miller
a. Argues that Miller was about the military. Nothing in the const. is intended without effect  (Marbury v. Madison), i.e. why put militia in the Am if it was not to address militias 
b. Making a case for stare decisis, and stated that Scalia is acting as an activist (i.e. prompting his policy beliefs in order to change the law) 
g. Dissent (Breyer): 
i. NOT a policy opinion, even though it is full of policy issues. Doesn’t tell you which one is wrong or right, but to argue that it is for local legislatures to decide what the right policy issue is, because it is tough data to analyze, and there is no one right answer for all communities. Trying to argue that the reason you need to have something other than strict scrutiny is that there is a presumption that if gov’t entity tries to protect you with a weapon, that it is done for a good purpose, but the details of how the gov’t does it should be regulated. 
1. Majority opinion gives all the power to the court and makes us wait to see what the courts say is Const.
2. He thinks there should be sometimes when it is within the power of state and federal gov’t to regulate guns  need a standard that gives power to state and federal gov’t 
ii. Believes that adopting strict scrutiny would be impossible 
1. Evaluation of govt purpose in passing the long is one prong of strict scrutiny. Because protecting from guns would be of an important interest, it would turn into interest balancing
iii. Judges do judging, and legislatures do policy making 
1. Trying to convince you he is making a legal conclusion, not a policy conclusion 
iv. Opinion tries to model how a lower court judge would walk through the analysis, if they wanted to use it 
1. Look at purpose of the law 
a. Keep people safe in D.C. 
2. Assess how the law burdens the 2nd Am 
a. Militia – doesn’t burden
b. Hunting – doesn’t burden 
c. Self defense in the home – does burden 
3. Think D.C. stayed “in its box” using this test 
a. He is not making the policy choice
b. Thinks it is a proportionate response to a legitimate concern 
v. Opinion is ultimately about the separation of powers; nature of judicial power
vi. Focus on second issue  law is consistent with the second amendment even if that amendment is interpreted as protecting a wholly separate interest in individual self-defense 
1. Writes in order to provide a possible test for lower courts to use since there is none identified by the majority 
h. There is a difference between how the majority and dissent (Stevens) defines militia 
i. Scalia  defines militia as all abled bodied men 
i. Neither dissent is making a policy argument, or based on the stats. 
i. Stevens  specific intent originalism
ii. Breyer  
1. Why did he bring up the stats if he is not making a policy argument? B/c there is a really good reason for regulating some firearms, but more importantly he is trying to argue what each branch of gov’t should do, and is arguing the kind of doctrinal rule when you find that a law infringes upon a second amd right, as in Heller 
a. Uses stats to make the point that it is a difficult question and should be a policy question. What he is critical of the strict scrutiny, is that the judicial branch is making the decision, which it should be for the locale. He is concerned that there is no test. 
2. He is trying to support his interest-balancing approach
a. Wrote it hoping that lower courts would use his test, since there is no test put forth by this opinion 
3. Says strict scrutiny is inappropriate because you always have a compelling interest because of what is at stake 
j. Takeaways:
i. Want you to know what the opinion says and what it does not say
ii. What does Heller hold? If there is a statute just like the D.C. statute the federal gov’t can’t intervene, but it is not clear if another similar, but different statute is created (e.g. ban of assault riffle in L.A.; D.C. leaves open the possibility that that is something the gov’t can restrict, because there is language in the opinion that the right may not apply to certain arms). 
1. I.e. can’t do what D.C. did, but no clear doctrinal rule that will apply to new cases 
2. Decision is more narrow than how commonly thought of in the public 
iii. Methods of Const. interpretation
1. Originalism and precedent in dissent and majority
iv. There is no standard of review lower courts are to apply
k. Example: LA passes a law that you cannot take a uzi to a school. How do you analyze under Heller? 
i. This right doesn’t go against long standing prohibitions 
ii. It is also about how common the weapon is 
l. Methods of interpretation in D.C. v. Heller
i. Majority Opinion
1. Textualism 
2. Original meaning
3. Precedential 
4. Evolutionary 
ii. Dissent (Stevens) 
1. Textualism
2. Originalism: Framers’ Intent 
3. Precedential 
iii. Dissent (Breyer) 
1. Doctrinal analysis 
2. Pragmatic judging
e. Structure of the Constitution’s Protection of Civil Rights and Liberties 
i. The seven Articles of the Const. are primarily about the structure of gov’t and not individual rights
1. Why?
a. Framers thought than an enumeration of rights was unnecessary because they created a gov’t with limited powers (i.e. without authority to violate basic liberties) 
b. Concern that enumeration of some rights in the text of the Const. inevitably would be incomplete and would deny protections to those not listed 
III. Early Interpretations of the Original Const., Bill of Rights, and Civil War Amendments (Barron v. Baltimore, Dred Scott, Slaughterhouse Cases)
a. Applying the BoR to the States 
i. Barron v. Mayor & City Council of Baltimore (1833) (early interpretation) 
1. Facts: Barron sued the city for taking property without just compensation in violation of the 5th Amend. 
2. Issue: whether the state gov’ts taking of Barron’s wharf violates the takings clause of the 5th Am (i.e. whether the BoR applies to state and local gov’ts) 
3. Analysis: when the framer’s where thinking of the BoR, they weren’t thinking about the 5th Am applying to the states and local gov’t  it is an easy Q, but important 
a. Const. was created for the US gov’t, not for gov’t of individual states 
b. Amendments do not contain language or intention to apply them to state gov’ts, thus, this court cannot apply them in that manner 
4. Holding: the 5th Amend does not apply to the states. 5th Amend is solely a limitation on the exercise of power by the gov’t of the US.
5. Rule: the BoR does not apply to state and local gov’t
a. 5th does apply in incorporation, through the due process law of 14th Am (see later notes)    
i. This case leads the way for the creation of the incorporation clause 
6. Takeaway: the 5th Am Takings clause would be violated if the federal gov’t took the wharf. Here it was not violated because it was the state who did the taking. 
a. The Const. and original Amends were meant to limit the powers of the federal gov’t, not state gov’t 
ii. Prigg v. Pennsylvania (1842)
1. Issue: do state liberty laws violate the U.S. Const.?
2. Analysis: Fugitive Slave Act of 1793 required that judges return escaped slaves. The object of the clause is to ensure citizens with slaves have complete ownership rights of their property 
3. Held: U.S. Sup Ct. strikes down state law requiring hearing on whether person of African descent is property of slave owner as unconstitutional, not because it violates civil rights/liberties, but because it is a federalism concern. The Const. gives the federal gov’t the power to decide how enslaved people are treated (Federal slave clasue) 
iii. Dred Scott v. Sandford (1857) [pre-civil war]
1. MO compromise: Congress admitted MO as a slave state but prohibited slavery in the territories north of particular latitude. 
2. Facts: Scott was a slave owned in MO by Emerson and was taken to IL, a free state. After Emerson died, Sanford (executor) administered his estate. Scott sued Sanford claiming that his residence in IL made him a free person. 
3. Issue: Two issues:
a. Is Dred Scott a citizen, such that he can sue, because while he was an enslaved person, was brought to a state where slavery was illegal?  NO
b. Is the MO compromise constitutional? NO
4. Analysis:
a. Slaves were not included, and not intended to be included under the word “citizens” in the Const. 
b. The duty of the court is to interpret the Const. by the meaning when it was adopted 
c. A person can be a citizen of a state but it does not meant they are a citizen of the US, or is protected by those rights 
d. Only actual issue before the court is whether the descendants of such slaves, who are emancipated or born to free parents, are citizens of a State as used in the Const. 
5. Holding: Missouri Compromise is unconstitutional. Slaves are property, not citizens. 
a. All persons of African descent, whether enslaved or free, are excluded from national citizenship and cannot assert their rights in federal court 
i. Can’t even put on chart (used in class) because African Americans were not citizens and did not get protections of the laws 
b. Federal law restricting the expansion of slavery into territories is unconstitutional because it violates the substantive property rights of slaveholders protected under the 5th Am due process clause 
iv. Slaughter Hour Cases: Butcher’s Benevolent Association of New Orleans v. Crescent City Livestock Landing & Slaughter-House Co. (1872) (post civil war – post 13th, 14th, 15th Am)
1. *More likely to be seen on MC rather than essay question
2. First Sup Ct. case to interpret the 14th Am  People will reference Slaughter House cases to discuss how Sup Ct. original interpreted equal protection. 
3. Facts: The state of Louisiana passed a statute which allowed two companies the exclusive rights to engage in the slaughterhouse business, which created a monopoly. It was an environmental protection law. Butchers challenged the state act of who could slaughter at the slaughterhouse, stating that it violated the 13th and 14th Amendments.  
4. Issue: whether the statute passed by the state of the LA violted the 13th and 14th Amend 
5. Rule: In interpreting a provision of the United States Constitution (Constitution), it is necessary to look to the purpose for which the provision was enacted.
6. Held: π lost every claim 
a. Did the statute create an involuntary servitude, deny to Plaintiffs the equal protection of the laws, or deprive Plaintiffs of property without due process of the law? No
b. Did the statute abridge the Privileges and Immunities of citizens of the United States in violation of the Fourteenth Amendment? No
7. Analysis: 
a. The BoR was the alternative option for what constituted the privileges and immunities of citizenship of the US 
b. 13th Am discussion
i. Hx lesson – why there was a civil war 
1. Meant to assert what the 13th Am was about 
ii. Court stated that the word “servitude” is a larger meaning that slavery (i.e. 13th Am protects from more than the literal slavery) 
1. But court doesn’t think that the word servitude is as broad to include how the butchers are interpreting it 
iii. Note - 13th Am is one of only Am that applies to private actors 
1. Loophole in 13th Am that states that you can enslave someone if they are convicted of a crime 
iv. 13th Am was all about the freedom of people of African descent who had been enslaved 
1. Court states that they are not literally saying that 13th and 14th Am only protects people of African descent, but it would be too far to say that it protects people under the butcher’s claim 
c. Privileges & Immunities (bulk of discussion)
i. Court doesn’t want to interpret it as broadly as butchers want, because it would be too much of a limit on state power. There is no explicit language in the Am to support the butcher’s interpretation. 
ii. Examples of privileges and Immunities of citizens: due process, equal protection, etc. 
iii. Narrow interpretation of due process clause 
8. Dissent (Field): stated that if the Privileges and Immunities Clause refers only to such rights as were specially designated in the Constitution or as necessarily implied as belonging to citizens of the United States, it was an enactment that accomplished nothing.
9. Takeaways: 
a. MAIN doctrinal takeaway: the court interprets this provision of the 14th Am, S1: “No State shall make or enforce any law which shall abridge the privileges or immunities of citizenship of the United States”), as a virtual nullity 
b. Courts interpretation of privileges and immunities is one of the components of the Slaughter House cases is still good law (i.e. still the rule)
i. What is the rule? 
c. Servitude has larger meaning than slavery, but not as broad as argued in this case 
d. The court narrowly interpreted each part of section one of the 14th Am
i. [bookmark: _GoBack]But the modern interpretation is much broader (e.g. Abigail Fisher v. UT  mainly white plaintiffs) 
b. Application of the BoR and the Constitution to Private Conduct
i. State action doctrine: Constitution does not generally apply to private entities or actors, but does apply to gov’ts at all levels, federal, state, and local, and to the actions of gov’t officers at all levels 
1. E.g. the 1st Am doesn’t apply to private actors (example in class of prof’s kid saying that she can’t tell him to shut up because of 1st Am, and prof replies that 1st Am doesn’t apply to her because she is not a gov’t actor). Point of 1st Am is to keep the gov’t from censoring different ideas, but can’t sue friend for disagreeing with you.
ii. The Civil Rights Cases: U.S. v. Stanley (1883)
1. Facts: Civil Rights Act of 1875 (public accommodations law) was created by the Federal gov’t. 
a. Who are the π? The discriminators – violated the CRA of 1875 and sued arguing that they should not be held liable under this law.  Stanley & Nichols were indicted for denying to persons of color the accommodations and privileges of an inn or hotel. Ryan & Singleton were indicted for denying to individuals of color the privileges and accommodations of a theater
2. Issue: whether the Civil Rights Act 1875 was constitutional. Did Congress have the power to enact the federal civil rights law under the authority of the 14th Am? If he Act was constitutional, then the people running the various accommodations would be subject to prosecution. 
a. Whether the act of Congress exceeds the scope of Congress’s power? I.e. does the constitution give Congress the power to make this law? 
3. Holding: CRA 1875 was deemed invalid and unconstitutional  saying that Congress did not have the power to make this law (i.e. stepped out of its box).
a. What made it unconstitutional? 
4. Analysis: The CRA of 1875 invades on what should be left to states (i.e. states should pass law on discrimination). Court makes “slippery slope” argument (in class-example of slippery slope of dating, staying at someone’s home, sleeping on their couch, renting a room, renting out apartment in a building the person owns  what should the gov’t be able to regulate/pass law on)
5. Dissent (Harlan): 
a. This holding seems inconsistent with the intent of the framers. The people who made the 14th Amend. meant to make it not legal to do the things that the plaintiffs in this case did (i.e. discriminate). The court has departed from the rule requiring, in the interpretation of const. provisions, that full effect be given to the intent with which they were adopted. 
b. Gov’t should be able to pass this law, because it is about businesses, not about private action per se. The holding is too narrow and artificial. 
c. 14th Am Citizenship Clause protect African Americans from discrimination in public accommodations…[see slides she will post]
i. Congress has the power to pass legislation like the CRA of 1875 to ensure that African American’s rights are fully protected and enjoyed 
ii. S5 of 14tH Amend. and S2 of 13th Amend. enumerate power of Congress to enforce  
1. To protect people from deprivation of civil rights enjoyed by other races and 
2. May enact those laws upon “states, their officers and agent; and upon individuals and corporations who exercise public functions and authority of the state.” 
d. Gave basic knowledge that there are exceptions to the state action doctrine (this is a conceptual disaster area)
6. Opinion Critiqued: on approach it took to striking down the CRE of 1875 
7. Takeaways: 
a. 14th Am is not about an individual discriminating against you. 
b. Congress made a law outside its box
c. Opinion has a lot of textualism 
8. The two categories of exceptions to the state action doctrine are (i.e. exceptions that you can argue for; exceptions are fact based) [will not be required to do analysis on essay, but could be on MC questions; on bar know when you are being tested on state action doctrine, i.e. when the person doing the action is not the gov’t):
a. Public Function Exception* (to the state action doctrine): 
i. Basic rule: if a private entity performs a task traditionally, exclusively performed by the gov’t, the constitution applies 
1. E.g. private company running a public utility 
b. And
c. Entanglement Exception* (to the state action doctrine): if somehow entangled with the gov’t, there are different exceptions (e.g. dinner at your home vs. public restaurant) 
i. Basic rule: if the gov’t affirmatively authorizes, facilities,…SLIDES 
ii. Five areas:
1. Gov’t Enforcement 
2. Gov’t Regulation 
3. Gov’t Subsidy 
4. Voter initiatives encouraging violation of rights 
5. Gov’t entwinement 
iii. E.g. percentage of gov’t workers, gov’t property, etc. 
c. Early Federalism, Substantive Due Process Issues, and the Protection of Slavery by the Const. and the S. Ct. 
d. First Interpretation of Reconstruction Amendments and 14th Amend Privileges and Immunities Clause 
e. Thwarting the Reconstruction Amendments by Interpreting Them Narrowly 
i. Handout #1 
f. Documentary – Consequences of the Civil Rights Cases’ Interpretation of the 14th Amendment
g. Film – Slavery by Another Name 
IV. Limits on Gov’t Power (Equal Protection Analysis and Substantive Due Process)
a. Equal Protection Analysis 
b. “Jim Crow” Racial Classification 
V. Scope of Federal Executive & Legislative Power and Federalism 
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